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If you didn't already know, Mr Shearn is a keen gblfer*. Sometimes he loses his shirt with all the excitementll

S Mr Shearn and Mr Bedford went to play 18 holes (not during lockdownll). Mr Bedford is a far better golfer so gives Mr Shearn a 3! shot
™ advantage before they start.

The course has a par score of 70. Mr Bedford completes the course in a score of 140% of 70..a personal best!
Mr Shearn, not including the 3l shot advantage Mr Bedford gave him at the start, completes the course in a score of 1.5 of 70.

Including the 3! shot advantage Mr Bedford gave Mr Shearn, who won and by how much? (Golf = the lower score wins)
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First correct solution or
! nearest to the pin!!
Wins..chocolate




